all tx(-) tx(+) all
92

tx(+)

tx(-)

5LE

Entire genome  left-replicating  right-replicating
1 1

0.5

Liver

0.5

Entire genome

t o

Tor

uv

left—replicating

0.5

S—
ey

P

tx(-)

Entire genome

left—replicating

right-replicating
b

1
0.5 0.5
-0.5 -0.5
-1 -1
1 1
0.5 0.5
| — e e 0 0
-0.5 -0.5
-1 -1
1 1
0.5 0.5
j_-!!i' 0 0 ].iLD
-0.5 -0.5
-1 -1
Entire genome  left—replicating right-replicating
1 1
0.5 0.5
0 0
-0.5 -0.5
-1 9
1 1
0.5 0.5
W — . 0 0
-0.5 -0.5
-1 -1
1 1
0.5 0.5
T 0 0
-0.5 -0.5

all

tx(+)

tx(-)

D

all

tx(+)

F

all

tx(+)

tx(-)

Smoking

Entire genome  left-replicating  right-replicating
1 1

0.5 0.5 0.5
o) I — 0 %!_.ﬁ? of S
-0.5 -0.5 -0.5
-1 -1 -1
1 1 1
0.5 0.5 0.5
0 0 j—'-..!rf’ 0
-05 -0.5 -0.5
-1 -1 -1
1 1 1
0.5 0.5 0.5
0 0 0
-05 -05 -05
-1 -1 -1
MSS
Entire genome  left-replicating  right-replicating
1 1 1
0.5 0.5 0.5
ol o —— = o — el —
0.5 0.5 -0.5
-1 -1 -1
1 1 1
0.5 0.5 0.5
0 1.i_-’e~ 0 ﬂ:—-“-!-\;r 0 ?-ii—iﬁ
-0.5 -0.5 -0.5
-1 -1 -1
1 1 1
0.5 0.5 0.5
0 j-_-__: 0 jw 0 j-iiié
-0.5 -0.5 -0.5
-1 -1 -1
APOBEC
Entire genome  left-replicating  right-replicating
1 1 1
0.5 0.5 0.5 .I
0] 0 j!!-lD 0
-0.5 -0.5 -0.5
-1 -1 -1
1 1 1
0.5 0.5 0.5
0 T.iY—J:L 0 0
-0.5 -0.5 -0.5
-1 -1 -1
1 1 1
0.5 0.5 0.5
0 j-!‘—-:r 0 0

B A>C/T>G
B ASG/T>C
B AST/T>A
B C>AIGST
B C>G/G>C

C>T/IG>A




